
Puzzleteile 1 zur Prozentrechnung

1 %
von

500 kg

10 €
von

200 €

5 %
von
60 t

50 m
sind
25 %

25 %
von

1600 ha

50 t
von
25 t

2 %
sind
8 €

30 %
von

150 cm

120 %
von

40 ha

5 cm2

sind
20 %

3 %
von

102 ha

12 ha
sind
75 %

40 %
von

300 cm2

2,5 %
sind
4 €

100 %
von

70 kg

300 cm
von

100 cm

150 %
von

60 ha

12 %
von

2000 €

60 a
von
80 a

25 km
sind
5 %

0,5 cm2

von
2 cm2

0,5 %
von

80 ha

5000 €
von

250 €

200 %
von
50 a

7 %
von

500 cm

10 %
von

1,5 kg

80 %
von
50 €

650 ha
von

650 ha

7,2 cm2

sind
1 %

20 cm
von

40 cm

75 %
von

1 km

15 %
von
50 €

1 €
sind
25 %

900 kg
von
1 t

110 %
sind
22 t



5 kg 5 % 300 kg 200 m 400 ha

200 % 400 € 45 cm 4800 a 25 cm
2

3,06 ha 16 ha 120 cm
2

160 € 70 kg

300 % 90 ha 240 € 75 % 500 km

25 % 0,4 ha 2000 % 100 a 35 cm

0,15 kg 40 € 100 % 720 cm
2

50 %

750 m 7,50 € 4 € 90 % 20 t


